REHR (3R (EFER) )
| THETAT 4 | (LI &R BT |
[#EERZ |  19:15 |
EA
X7 5 = &
EEYBEEEEH 5421 A 5,803 A 11,224 A
BREEH 3,625 A 3,660 A 1,285 A
AER LAKREEH 1,334 A 1,127 A 2,461 A
HBRREER 2,261 A 2,474 A 4,735 AN
THEEREENR 30 A 99 A 89 A
EIEEH 1,796 A 2,143 A 3,939 A
REX 66.87 % 63.07 % 64.91 %
=5
X5 5 = &
EFXLHEEEH 11 A 11 A 22 N
BREEH 0 A 0 A 0 A
BER LAREEH 0 A 0 A 0 A
HBRAMREEH 0 A 0 A 0 A
TEEEREEHR 0 A 0 A 0 A
ENDEREEH 0 A 0 A 0 A
HEHFREEN 0 A 0 A 0 A
EIEEH 11 A 11 A 22 N
BREX 0.00 % 0.00 % 0.00 %
ER+ &S5
X5 5 T 5
EFXLUBHEEEH 5,432 A 5,814 A 11,246 A
BREEH 3,625 A 3,660 A 1,285 A
EIEEH 1,807 A 2,154 A 3,961 A
BER 66. 73 % 62.95 % 64. 78 %
HEEA LI &R T
R s 0967-72-1111
EIERZ 19:17




